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S.Y. B.Com. Examination, 2010
BUSINESSECONOMICS-MACRO
(2004 Pattern)

(Old)

Time: 3Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
i) Figures to the right indicate full marks.
iii) Draw neat diagrams wherever necessary.

1. Answer the following questionsin 20 words each (any ten) : 20
1) State the definition of Macro Economics stated by Prof. K.E. Boulding.
2) Definemoney.

3) What isFiscal Policy ?

4) State Fisher’s equation regarding the value of money.

5) What is near money ?

6) DefineDeflation.

7) What is Effective Demand ?

8) Definelnvestment multiplier.

9) What is Philips Curve?
10) What isaDirect Tax ?
11) Give any two sources of economic growth.
12) What is marginal propensity to consume ?
13) What isdeficit finance ?

2. Answer the following questions in 50 words each (any two) : 10
1) State the significance of Macro Economics.
2) State RBI’s several money measures.
3) State and explain the elements of supply side Economics.

4) What are the types of Budget ?
P.T.O.
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3. Answer the following questions in 150 words each (any two) : 20

1) What isMacro Economic Policy ?What are the objectives of Macro Economic
Policy ?

2) Describe various phases of a Trade cycle.
3) Explainthe variousfunctions of money.

4) What is Public Finance ? Explain the nature and scope of Public Finance.

4. Answer the following questions in 300 words each (any two) : 30

1) Explain the process of multiple credit creation by commercial banks. What
arethelimitations on the credit creation ?

2) What isInflation ? Explain the effectsof Inflation in detail.

3) What is consumption function ? Explain various factors affecting the
consumption function.

4) What isEconomic growth ? Explainindetail the constraints upon the economic
growth.
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S.Y. B.Com. Examination, 2010
CO-OPERATION AND RURAL DEVELOPMENT -1
(Special Paper) (2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B. : i) All guestions are compulsory.
i) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten). 20

1) What isunlimited liability ?
2) What is main deficiency of Co-operative SocietiesAct of 1904 ?
3) State two features of Multi-State Co-operative Society.
4) DefineBy-law of Co-operatives.
5) What do you mean by accountability of District Registrar of Co-operatives ?
6) State two benefits of Sugar co-operativesin rural development.
7) State two objectives of Dairy Co-operatives.
8) State two objectives of Urban Co-operative Bank in India.
9) Defineindividual approach of rural development.

10) State two problems of mass approach of rural development.

11) What isthe aim of employees’ co-operatives ?

12) Givetwo suggestionsof MahatmaJyotirao Phuleregarding rural development.

13) What do you mean by integrated rural development ?

P.T.O.
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2. Answer the following questions in 50 words each (any two). 10

1) Explaintheprovisionsof MaharashtraCo-operativeAct, 1960 regardingAudit
of Co-operatives.

2) State the important provisions of Co-operative SocietiesAct, 1912.

3) Explaintheimportance of Urban Co-operative Banksin Co-operative Movement
in Maharashtra.

4) Explainthe nature of individual approach of rural development.

3. Answer the following questions in 150 words each (any two). 20
1) Explainthe accountability of Registrar of District Co-operative Societies.

2) Statedeficienciesof Co-operative Movement in Indiaas shown by Machlegan
Committee.

3) Explainthefeaturesof massapproach of rural development. How it ishelpful
inrural development ?

4) Writein brief thethoughts of Dr. BabasahebAmbedkar regarding Social reform.

4. Answer the following in 300 words each (any two). 30

1) State and explain the provisions of Maharashtra State Co-operative Societies
Act 1960, regarding powers, responsibility and A ccountability of Registrar of
Co-operatives.

2) Explaintheroleof Co-operative Sugar factoriesin Co-operative Movementin
Maharashtra.

3) Explain the progress and drawbacks of Urban Co-operative Banks in
Maharashtra.

4) Review in brief the thought and work of Mahatma Jyotirao Phule about social
reform.
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S.Y. B.Com. Examination, 2010
BUSINESSSTATISTICS—I
Special Paper)

(2004 Pattern) (Old Course)

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.

2) Figuresto the right indicate full marks.
3) Use of calculator and statistical tables is allowed.

1. A) Attempt any four of the following.

a) Definetheterms:
1) Vaiable 2) Attribute

b) P(A) = 0.5, P(B) = 0.4. If A and B are independent, Find P(A U B).
c) DefineBinomial distribution. Stateits mean and variance.
d) Expand (2x —3y)2 using binomial theorem.

e) A and B aremutually exclusive eventsof sample space Q with P(A)=0.4
and P(A U B)=0.9. Compute P(B).

f) 1f nC, =28, find the value of n.
B) Attempt any three of the following.
a) What is meant by Index number ? State the uses of Index Numbers.

b) Calculate 5 yearly moving average for the data related to annual sales
(in"000 Rs.) for the year 2000 to 2009.

Year | 2000 2001 2002 2003 2004 2005 2006 200/ 2008 2009
Sales| 242 238 252 257 250 273 270 268 288 284

(2 each)

(4 each)

c) Compute standardize death rates for town A and town B. Take population
of town A as standard population.

Town A Town B

Age
inyrs _ _ Number of

Population | No. of Deaths | Population Deaths
0-5 15000 300 10000 280
5-30 30000 600 25000 400
S0and | 5h000 800 15000 750
above

P.T.O.
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d) What do you mean by multipleregression ? State any two applications of it.

€) Inhow many waysthe letters of theword ‘BOUNDARIES' are arranged at
random ? Find the number of waysthat the vowelsare always side by side.

2. A) Attempt any three of the following. (4 each)

a) A Poisson variate X is such that
P(X =1) =2P(X = 2).
Find the value of P(X = 0).
Find mean and variance of X.

b) A cardisdrawn from well shuffled pack of 52 playing cards. What is the
probability that it is either a spade or an ace ?

c) The probability distribution of adiscrete random variable X isasfollows
Valueof X: -2 -1 0 1 2 3
PX=x) : 01 k 02 2k 03 k

Find the value of k. Calculate P(X >1).

d) From the following data compute cost of living index number.
ltem Food Rent Fuel Clothing Miscellaneous
Index 200 160 220 310 230
Weight 60 16 03 12 04

e) Using binomial theorem, find the value of 1033,
B) Attempt any two of the following. (4 each)

a) A, B, C are mutually exclusive and exhaustive events of sample space
such that
3P(A) = 2P(B) = P(C).
Find P(A), P(B) and P(C).

b) X isthe rolinumber of student selected at random from students bearing
rollnumbers 1 to 20. Write pmf of X. Find mean and variance of X.

c) A baker sells 4 types of cakes. Profit due to sale of each type of cakeis
respectively Rs. 3, 2.5, 2 and 1.
The demand for these cakes are 10%, 20%, 30% and 40% respectively.
What is the expected profit per cake ?
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3. Attempt any three of thefollowing : (5 each)
a) State various problemsinvolved in the construction of Index numbers.
b) Five companies A, B, C, D, E send 3 delegates each to a conference. A

committee of four delegates is then formed. Find the number of committees
so that

1) The company A is not represented.
i) All the delegates of the company E are represented.

c) Define:

1) Probability mass function of discrete random variable
i) Expectation of discrete random variable
i) Additive property of Binomial distribution

d) Fitatrend lineto the following time series by least square method

Year (t) 2001 2002 2003 2004 2005
Production (y) 12 20 28 32 50
in lakh tons

Estimate trend value of production for year 2008.

In desert region the number of persons who become serioudly ill each year
from eating acertain kind of poisonous plant israndom variable having Poisson
distribution with mean 2.3. Find the probability that :

1) Two such illness occur in agiven year.
2) At least four suchillnessin aperiod of 3 years.

4. Attempt any three of the following. (5 each)
a) Explain briefly components of time series.
b) Calculate priceindex number by using

1) Laspeyresformula 2) Paaschesformulaand 3) Fisher’'sformula

_ 2004 2005
Commodity : . . :
Price | Quantity = Price | Quantity
A 20 8 40 6
B 50 10 60 5
C 40 15 50 10
D 20 20 20 15
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c) Thefollowinginformationis collected on two attributes

Cinegoers Non-Cinegoers

Literates

[lliterates

82 53
47 68

Based on this, can you conclude that there is no association between habit of
watching Cinemaand Literacy ?

d) During awar 1 ship in every 5 was sunk on an average. Find the probability
that out of afleet of 6 ships, exactly 4 shipswill arrive safely to the port.

e) Explaintheterm vital event and state the methods of collecting vital statistics.

5. Attempt any one of thefollowing :

(10 each)

a X, X,and X, arethe heightsin cm of son, mother and father respectively.
X,=168 X,=162and X,=167

c,=2

G,
r,=0.7 r

13

=25 0,=25
=0.6 r,=05

i) Obtain least square regression equation of X, on X, and X,
i) Estimate X, when X, =164 and X5 =170.

b) Calculatei) GER. ii) Age SER. iii) T.ER. for the data given below :

Age group NU?\bg}OCjS;Vn%mm Number of Births

15- 20 8 56
20 - 25 10 100
25-30 12 84
30-35 6 36
35 - 40 3 15
40 - 45 ) 5

45 - 50 4 4

B/1/10/685
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S.Y. B.Com. Examination, 2010
COMPUTER APPLICATIONS-I

(Special Paper)
(RDBMS, VB and VB.NET)
(2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B.: 1) All questions are compulsory.
i) Figuresto the right indicate full marks .
lii) Neat diagrams must be drawn wherever necessary.

1. A) Consider the following table Actor (Ano, Aname, nooffilms, Asex, Acost)

Referring to the abovetable, write SQL statement for the following (any four) : 8
1) List al records stored in Actor table.

i) Display the Aname whoseActorname start with*S'.

i) Display theActor information whose sex isfemale.

Iv) Display the Ano whose cost is less than 20,000.

V) List the Actor information whose no of filmsis 20.

vi) Change the Actor name of Actor ‘Ra’ whose Actor no is 5.

B) Explain the following commands (any four) : 8
i) Btitle
i) Delete
i) Create
iv) Skip
V) Insert
2. Attempt any two of the following. 16
1) Explain different clausesused in SQL.
i) Explainany four mathematical function usedin SQL.
i) Explain different database modelsin brief.

P.T.O.
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3. A) Write purpose and syntax of the following (any four) :

I) Select....case

i) Do... While

i) Msghbox ()

Iv) Dim

v) Vva ()

B) Write properties and methods of the following (any two) :

I) Text Box

ii) Radio Button

i) Command Button

4. Attempt any two of the following.
1) Write benefits of VB.Net.
i) Explain thefeaturesand environment of V.B.

i) How the data reports created in V.B. ? Explain the use of it.

5. Attempt any one of the following.

1) What isDML ? Explain any three commands used in DML.

i) Explain different datatypesused in SQL.

16

16

i) @ Design aform for student marksheet having 6 subjects. Display ok button,
after clicking on button program should display total and percentagein
separate text boxes. Write a program to calculate total and percentage of

student.

b) Write aPL/SQL block for modification in Actor table change the actno 15

with 25.

B/1/10/360
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S.Y. B.Com. Examination, 2010
BANKING AND FINANCE -1

(Special Paper)
(Indian Banking System)
(2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
i) Figuresto the right indicate full marks.

1. Answer the following questionsin 20 words each (any ten) : 20
1) What is meant by public sector banks ?
2) Define scheduled banks.

3) What is meant by foreign banks ?
4) Define Cash Reserve Ratio.
5) What isStatutory Liquidity Ratio ?
6) What is meant by Low profitability ?
7) Define cooperative banks.
8) Givefull form of PACCS.
9) Definebank rate.
10) What is selective credit control ?

11) DefineCentral Bank.

P.T.O.
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12) Give any two functions of state cooperative banks.
13) What is meant by Development Banks ?
2. Answer the following questions in 50 words each (any two) : 10
1) Statethe objectives of Nationalisation of commercial banks.
2) Explainthe structure of cooperative bankingin India.
3) State the importance of banking system in Indian economy.
4) Explainthe characteristicsof aCentral Bank.
3. Answer the following questions in 150 words each (any two) : 20
1) State and explain the functions and problems of Regional Rural Banks.
2) Explain the progress of State Bank of India.

3) Explainindetail thefunctionsand problemsof primary Agricultural Credit
Co-Operative Societies.

4) Explainthe functions of Reserve Bank of India.
4. Answer the following questions in 300 words each (any two) : 30
1) Discussin detail the problems of Nationalised Banks.
2) Explain the recommendations of Narasimham Committee—1 (1991).
3) State and explain the methods of credit control.

4) Explainthefunctionsof Development Banks.
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S.Y. B.Com. Examination, 2010
(Vocational Paper)
COMPUTER APPLICATIONS-I1I
( 2004 Pattern) (Old)
Time: 2%2Hours Max. Marks: 60

N.B. : 1) Attempt any five questions from Section — I.
2) Attempt any five questions from Section — I1.
3) Draw a neat — labeled diagram wherever necessary.
4) Figures to the right indicate full marks.

SECTION — |
1. Define DBMS. Explain the benefits of Database in business. (6)
2. Explaininbrief thefollowing termswith syntax and example. (6)
a) Insert
b) Select
3. Explaininbrief Structured Query Language and itsfeatures. (6)
4. Explainthefollowing functions. (6)
a) Avg()
b) Length()
5. Explainin brief thefollowing. (6)
a) Primary Key
b) ForeignKey
6. Explainthefollowing with examples. (6)
a) Having Clause
b) Between Operator
7. What isE-R Model ? Explainin brief key elements of E-R Model. (6)

P.T.O.
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SECTION — 11
1. What arearrays ? Explain the declaration, initialization and use of a single
dimensional array with an appropriate example. (6)
2. Explainin brief thefollowing termswith syntax and example. (6)
a) If..Else
b) While
3. Explainin brief the features of OOP, (6)
4. What isapointer ?How isitinitialized ? Explain with example. (6)
5. Explainin brief thefollowing C++ tokens. (6)
a) Keywords
b) Constants
6. What isastructure ? Explain its use with example. (6)

7. Writea‘C’ program to accept ten numbers into an array and print the even
numbers. (6)

B/1/10/405



S.Y. B.Com. Examination, 2010
(Vocational Paper)
COMPUTER APPLICATIONSIV
(Old) (2004 Pattern)

Time: 2% Hours

N.B. : i) Attempt any five questions from Section - I.
i) Attempt any five questions from Section - 11 .

[3769] — 625

Max. Marks: 60

iii) Draw a neat - labeled diagram wherever necessary.

Iv) Figures to the right indicate full marks.

SECTION — |
1. What are data types present in VB ? Why we need to use them ? (6)
2. What do you understand by term ODBC ? Explain how it helps in connecting
back - end with front - end. (6)
3. Explainfollowing: (6)
a) Property Window
b) Project Explorer.
4. Differentiate input box and message box. (6)
5. Explain briefly the following statement with suitable example and syntax (6)
[
While ...........
6. Write short note on string functionsin VB. (6)
7. What will be the output of thefollowing ? (6)

a)

Private Sub Command _ click ()
Dim|, j Aslnteger

Dimnum (1 To 2, 1 To 2) As Integer
Forl=1To?2

Forj=1To 2

num (1, j) = InputBox(“ Enter Value™)
Next |

Next |

Forl=1To?2

Forj=1To?2

Print num(l, j)

Next |

Next |

End Sub

P.T.O.
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SECTION — 11
. ExplainWeaterfall model with Diagram. (6)
. Explain System Development Life Cycle (SDLC). (6)
. What is System Analysis ? (6)
. What isdecision tree ? Explain decision tree with suitable example. (6)
. Explain the process of system design. (6)
. Explainthefollowing - (6)

a) Structured System Analysis
b) Coding Method.

. Draw Context Level DataFlow Diagram for Admission System in which students

course, teacher are entities.

(6)

B/1/10/395
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S.Y. B.Com. Examination, 2010
BUSINESSCOMMUNICATION
(2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
2) Figuresto the right indicate full marks.
1. Answer in 20 words each (any ten) : 20
1) What iscircular letter ?
2) What do you mean by Enclosure ?
3) What is Upward Communication ?
4) What do you mean by Salutation ?
5) What is Business -letter ?
6) What isan order-letter ?
7) State the four uses of Internet.
8) What is Fax ?
9) Definethetermlistening.
10) WhatisE-mail ?
11) What do you mean by Minutes ?
12) What isanAgenda?
13) What do you mean by cellular-phone ?

2. Answer in 50 words each (any two) : 10
1) Explaintheimportance of Business Communication.
2) Statethe disadvantages of Oral-Communication.
3) Explainthetypesof listener.
4) State the importance of computers in communication.

P.T.O.
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3. Answer in 150 words each (any two) : 20

1) Draft a letter on behalf of A to Z Matching Centre, Kolhapur to Kalpana
Fashion House, Shrigonda (A. Nagar) complaining about delay in execution
of order of Readymade Garments.

2) WriteaSalesletter on behalf of Das Electronics, Solapur regarding Refrigerator.

3) Draft an application for the post of Financial Officer in Rajabahadur Mills
Ltd., Pune.

4) Write aletter on behalf of Pooja Products, Kolhapur to Ganga Stores, Satara
for terminating his agency due to continuous unsatisfactory sales.

4. Answer in 300 words each (any two) : 30
1) Statethe principlesand importance of communication.

2) What do you mean by circular letter ? Explainin detail the causesof circular
|etter.

3) What do you mean by an effective speech ? Explain the techniques of an
effective speech.

4) Draft aCommittee Report, appointed to find out the causes of labour unrest
and suggest remedies.

B/1/10/3,385
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S.Y. B.Com. Examination, 2010
CORPORATE ACCOUNTING
(2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
i) Figuresto the right indicate full marks.
Iii) Use of calculator is allowed.

1. A) Fill inthe blanks (any five) : 5
1) Preference shares repayable at the end of a specified period is known as

2) If amount called-up on the shares is not paid by the share holder his
shares may be

3) Profit earn before incorporation is called as

4) Advertisement expensesallocated intheratio of
5) Accounting Standard No. Five (AS-5) deals with

6) In amalgamation there are two liquidation and
formation.

7) A company whose majority of the shares are purchased by holding
company is known as
B) State whether the following statementsare‘true’ or ‘false’ (any five) : 5
1) Forfeited shares can be Re-issue by the company.

2) When issue price of sharesis less than face value of shares is known as
shareissue at premium.

3) Accounting Standard Four deals with Revenue Recognition.

4) Government due are called as preferential creditors.

5) Called up capital is more than Authorised capital.

6) Balance of Capital Reduction Account istransferred to capital reserve.
7) Minority interestisshownto liabilitiesside of consolidated Balance Sheet.

P.T.O.
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2. TheKaveri Company Ltd. wasregistered withanominal capital of Rs. 15,00,000
divided into equity sharesof Rs. 100 each. On 31% March 2010 the following
were the ledger balances in the company’s books.

Particulars Debit Credit
Rs. Rs.
CadllsinArrears 20,000 -
Plant and Machinery 9,00,000 —
Opening stock 1,87,500 —
Fixtures 18,000 -
Debtors 2,17,500 -
Building 7,50,000 —
Purchases 4,62,500 -
Interim Dividend paid 17,500 —
Rent 12,000 —
General Expenses 12,250 —
Debenture Interest 22,500 -
Billspayable — 95,000
General Reserve - 62,500
Profit and Loss Account Appropriation Bal. — 36,250
Equity share capital fully called up — 11,50,000
Preliminary Expenses 12,500 —
Freight 32,750 —
Goodwill 62,500 -
Wages 2,12,000 —
Cashin hand 5,875 -
Cash at Bank 95,750 —
Directors fees 14,350 —
Bad debts 5,275 -
Commission on sales 18,000 -
Sdaries 36,250 -
6% debentures -  7,50,000
Sales — 10,37,500
4% Government securities 1,50,000 -
R.D.D. - 8,750
Creditors — 1,25,000

32,65,000 32,65,000
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You are required to prepare Trading , Profit and Loss A/c and Profit and Loss
Appropriation Account for the year ending 31 March 2010 and Balance Sheet
ason that date after considering following adjustments,

1) The stock on 31 March 2010 was estimated at Rs. 2,52,500.

2) Depreciation on plant and machinery at 10% and on fixtures at 5%.

3) Rs. 25,000 included in wages utilised in adding the rooms to the building.

4) Final dividend at 5% be provided on paid capital.

5) Preliminary expensesto be written off by 20%.

6) R.D.D. to be maintained at 5% on debtors.

7) Rs. 25,000 wereto be transferred to General Reserve.

8) A provision for Income tax to the extent of Rs. 50,000 was to be made. 20
OR

A) Vima Engineering Ltd. went into liquidation on 31-3-2010. The Balance Sheet
as on that date as under :

Balance Sheet as on 31.3.2010

Liabilities Rs. Assets Rs.
Share Capital : Freehold property 80,000
1) 8,000, 8% preference Plantand Machinery 69,000
shares of Rs. 10 each 80,000 Stock 75,000
i) 12,000 Equity shares Cashin hand 1,000
of Rs. 10 each 1,20,000 Debtors 55,000
5% Debentures 60,000 Profit and Loss 79,000
(Secured on Freehold
property)
Income Tax 4,000
Trade creditors 65,000
Bank overdraft 30,000

3,59,000 3,59,000
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a) Theinterest on debentures were paid upto 312 March 2009.

b) Preference dividend were in arrearsfor two years.

c) TheAssetsrealised asunder :
Freehold property Rs. 1,60,000
Plant and Machinery Rs. 62,000

Stock Rs. 73,000

Debtors Rs. 50,000

d) The expenses of liquidation amounted to Rs. 5,000 and liquidators
remuneration was fixed at Rs. 1,500 plus 2% on all assets realised except

cash.

€) Thecreditorsincludethe preferential creditors which amounted to Rs. 5,000.

Prepare the liquidators Final Statement of Account. 12

B) Krishna Limited was incorporated on 1% August 2009, to take over the running
business of Narayan from 1% April 2009. The Profit and Loss Account for the
year ended 31% March 2010 isasfollows:

Profit and Loss A/c as on 31-3-2010

Dr.

To Rent

To Insurance

To Electricity charges
To Salaries

To Directors fees

To Auditor’s fees

To Commission

To Advertisement

To Discount

To office expenses

Cr.
Rs. Rs.
24,000 By Gross Profit 3,10,000
6,000
4,800
72,000
6,000
3,200
12,000
8,000
7,000
15,000
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To Carriage 6,000
To Bank charge 3,000
To Preliminary expenses 13,000
To Bad Debts 4,000
To Net Profits 1,26,000
3,10,000 3,10,000

Total turnover for the year ended 31.3.2010 was Rs. 10,00,000 divided into
Rs. 3,00,000 for the period upto 13 August 2009 and Rs. 7,00,000 for the remaining
period.

Ascertain the profit prior and after incorporation. 8

3. A) Tata Motor Ltd. was incorporated on 1% July 2009 with an authorised
capital of Rs. 50,00,000 divided into 50,000 equity sharesof Rs. 100 each.
On 1% Sept. 2009 company offered 20,000 equity shares to the public at 10%
premium and the amount payable asfollows:

On Application Rs. 25

On Allotment Rs. 40 (including premium)
On First call Rs. 25

OnFina call Rs. 20

Company received application for 30,000 shares. The applications for 5,000
shares were rejected and application money was refunded. Pro rata allotment
was made to the remaining applicants. Excess application money was adjusted
against the amount due on allotment. All shareholders paid the call money
except Mr. Anand who failed to pay First and Final call money on 200 shares.
Hisshareswereforfeited. These shareswere re-issued to Mr. Sudhir at Rs. 75
asfully paid.

Pass the journal entries in the books of Tata Motor Ltd. 15
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B) Thefollowing are the summarised Balance Sheet of BigLtd. and Small Ltd.

ason 31%* March 2010.

Balance Sheet as on 31-3-2010
Liabilities Big Ltd. Small Ltd. Assets

Machinery

Rs. Rs.
Share capita 1,80,000 1,00,000  Building
(Share of Rs.
10 each)

Furniture

Sundry creditors 40,000 20,000  Debtors
BillsPayable 20,000 10,000  Investment

Bank overdraft 20,000
Profit and Loss 35,000

2,95,000 1,30,000

(8,000 Equity
sharein
Small Ltd.)

Profit and Loss

I) Debtorsinclude Rs. 10,000 due from Small Ltd.

ii) Big Ltd. acquired the shares of Small Ltd. on 1% April 2009 when Small
Ltd. had a debit balance of Rs. 40,000/- in its Profit and Loss A/c.

Prepare a consolidated Balance Sheet as on 31-3-2010.

Big Ltd. Small Ltd.

Rs. Rs.
50,000 40,000

80,000 20,000
60,000 20,000

50,000 25,000
55,000 —

— 25,000

2,95,000 1,30,000

15

4. The Balance Sheet of Concept Ltd. as on 31% March 2010 isasfollows::

Balance Sheet as on 31-3-2010

Liabilities Rs.
Share Capital :
2000 share of

Rs. 100 each 2,00,000
6% Debentures of

Rs. 100 each 1,00,000
Sundry creditors 30,000
Reserve fund 50,000
Profit and Loss 20,000

Total 4,00,000

Assets
Goodwill

Freehold property
Plant and Machinery

Stock
BillsRecavable

Sundry debtors
Cash at Bank

Total

Rs.
50,000

1,50,000
83,000

35,000
4,500

27,500
50,000

4,00,000
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Idia Ltd. absorbed Concept Ltd. on the following term on 31-3-2010.

1) IdiaLtd. agreed to take the assets excluding cash and Goodwill at 10% less
than book values, to pay Rs. 75,000 for Goodwill and to take over the
debentures.

2) The purchase consideration was to be discharged by allotment to Concept
Ltd. of 1,500 sharesof Rs. 100 at apremium of Rs. 10 per share and balance
in cash.

3) The cost of liquidation amounted to Rs. 3,000/- paid by Concept Ltd.

You are required to prepare :

I) RealisationA/c, CashA/c, ShareholdersA/c, Purchasing Co.A/c, Creditors
A/c in the books of Concept Ltd.

i) Acquisition Journa Entriesin the Book of IdiaLtd. 20
OR

A) Thefollowing isthe Balance Sheet of Kamal Ltd. ason 31-3-2010.

Balance Sheet of Kamal Ltd. as on 31-3-2010

Liabilities Rs. Assets Rs.
Share Capital : Good will 15,000
5% 2000 cumulative Freehold property 2,00,000
preference share of Plant and Machinery 3,00,000
Rs. 100 each 2,00,000 Stock 50,000
4,000 equity share of Debtors 40,000
Rs. 100 each 4,00,000 Profit and Loss A/c 2,40,000
6% Mortgage debenture 1,00,000 Cash 5,000
Bank overdraft 50,000

Creditors 1,00,000

8,50,000 8,50,000
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The company got the following scheme of reconstruction.

1) The preference shares to be reduced to Rs. 75 per share fully paid up and
equity share to Rs. 40 fully paid up.

2) The debenture holders took over the stock and the book debtsin full
satisfaction of the amount due to them.

3) The Goodwill Account isto be eliminated.
4) The Freehold properties to be increased by 30%.
5) Thevalue of Plant and Machinery to be depreciated by 33%%.

6) The expenses of reconstruction amounted to Rs. 3,000.
Givethejournal entriesfor the above and the revised Balance Sheet. 15

B) Write a short note on (any one) : 5
I) Accounting Standard Thirteen (AS-13)

ii) Issue of Bonus shares.

B/1/10/10,265
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S.Y.B.Com. Examination, 2010
(2004 Pattern)(Old)
BUSINESSMANAGEMENT

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.

2) Figuresto the right indicate full marks.

1. Answer the following questions in twenty words each ( any ten) : (20)

1) What is* Scientific Management’ ?
2) Definetheterm ‘Business'.
3) What ismeant by MBO (Mgt. By Objective) ?
4) Definefunctional typeof organisation.
5) What do you mean by span of control ?
6) What is‘ Decentralisation of authority’ ?
7) What do you mean by ‘Morae ?
8) Definetheterm ‘Leadership’.
9) Definetheterm‘Communication’.

10) Definetheterm ‘Coordination’.

11) What do you mean by ‘Forecasting’ ?

12) Definetheterm ‘Control’.

13) Definetheterm‘Direction’.

2. Answer the following questions in fifty words each ( any two) : (10)
1) Explain‘Scientific Management’ advocated by FW. Taylor.
2) What arethe principles of delegation ?
3) Explaintheimportance of Leadership.

4) ExplaintheBarriersto effective communication.

P.T.O.
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3. Answer in 150 words each ( any two) (20)
1) Explainthe factorsaffecting decision making process.
2) Explainthe meritsand demeritsof centralisation.
3) State need and principles of coordination.
4) Explaintheimportance and qualities of leadership.

4. Answer in 300 words each ( any two) : (30)
1) Describethe contribution of Henri Fayol to the management thought.
2) Explain the importance and techniques of forecasting.
3) Describe the characteristics and stepsin controlling.
4) Explainthe conceptsindetail :
a) Management of change.
b) Environmental awareness.
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S.Y. B.Com. Examination, 2010
CORPORATE LAW
(2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B.: 1) All questions are compulsory.
i) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : 20

1) What is‘Incorporation Certificate’ ?
2) What is*Articles of Association’ ?
3) What is‘One Man Company’ ?
4) What is*Mis-statement in prospectus’ ?
5) What is‘Callsin Advance ?
6) State the meaning of ‘forfeiture of shares'.
7) What do you mean by ‘Issue of Share at Premium’ ?
8) State the meaning of ‘Fixed Charge'.
9) Definetheterm ‘Director’.

10) What is * Postponement of Meeting’ ?

11) What is‘ Statutory Meeting’ ?

12) What isthe meaning of ‘ Official Liquidator’ ?

13) What do you mean by ‘Winding up of a company’ ?

P.T.O.
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2. Answer the following questions in 50 words each (any two) : 10
1) Distinguish between Right Shares and Bonus Shares.
2) What are the characteristics of Floating Charge ?
3) Statetheordinary businessesthat aretransacted in anAnnua General Meeting.
4) Statethecriminal liability of directors.

3. Answer the following questions in 150 words each (any two) : 20
1) Distinguish between Share Certificate and ShareWarrant.
2) State the procedure for underwriting of shares.
3) What are the statutory provisions of minutes ?
4) What arethe duties of a Secretary at anAnnual General Meeting ?

4. Answer the following questions in 300 words each (any two) : 30
1) Explainthe different Clauses of Memorandum of Association.
2) State the meaning of Debenture. Explain the different types of Debentures.
3) WhatisaMotion ? Explain thedifferent typesof motioninacompany meeting.

4) Explain the terms‘ Oppression and Mismanagement’. Who can apply to
Company Law Board/Tribund for relief in case Oppression and Mismanagement ?
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Time: 3Hours

N.B. :

SY. B.Com. Examination, 2010
BUSINESSADMINISTRATION -1
(Special Paper) (2004 Pattern) (Old)

1) All questions are compulsory.
ii) Figuresto the right indicate full marks.

1. Answer in 20 words each (any ten) :

1) Management

2) Joint Stock Company
3) Liberdisation

4) Automation

5) Business Forecasting
6) Industrial Estate
7) Industrial Psychology

8) Direct Tax

9) Plant Layout

10) ExportCulture
11) Educational Environment

12) Objectives of Business
13) Quality Circle.

2. Answer in 50 words each (any two) :

1) “Administration is a Profession” discuss.

2) Advantagesof Rationalisation.

3) Explain the concept of productivity.

4) Explaintherole of women in business.

[3769] — 606

Max. Marks: 80

20

10

P.T.O.
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3. Answer in 150 words each (any two) : 20
1) Meritsand Demeritsof partnership firm.
2) Government and Business.
3) What are the advantages of Automation ?

4) What is Industrial Psychology ? Explain the importance of Industrial
Psychology in BusinessAdministration.

4. Answer in 300 words each (any two) : 30
1) Writeadetail noteon ‘Industrial Policy 1991'.
2) Explain SO 9000 quality standard.

3) What is Industrial Sickness ? Explain the detail effects on employees,
management and consumer of Industrial sickness.

4) What is Joint Stock Company ? Explain the various types of Joint Stock
Companies.
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S.Y. B.Com. Examination, 2010
COST AND WORKS ACCOUNTING -1
(Special Paper)

(2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
i) Figures to the right indicate full marks.
Iii) Use of calculator is allowed.

1. A) Fillintheblanks: 5
1) Fuel and power is an item of overheads.

i) Aggregate of al direct costs is known as

i) Purchase of materials isinitiated through

Iv) A cost whichispartly fixed and partly variableiscalled

v) Wages sheet is prepared by department.

B) State whether the following statementsaretrueor false: 5
I) Cost accounting isabranch of financial accounting.
i) Salary paid to factory supervisor isindirect wages.
i) Personnel department isresponsiblefor computation and payment of wages
of workers.
Iv) Value of closing stock under FIFO and LIFO methods is the same.
V) Purpose of time booking is to compute the wages payable to workers.

2. What is cost ? Explain the classification of cost in detail. 15
OR

Explain briefly the functions of the purchasing department in alarge manufacturing
concern. 15

3. Write short notes on (any three) : 15
1) Timekeeping
i) Effectsof labour turnover
i) Bincard
Iv) Types of stores organisation

V) Piece rate system.
P.T.O.



[3769] — 608

4. A) Thefollowing figures have been extracted from the books of Jay Engineering
Ltd. for the year ending 31% March 2009.

Particulars Amount
Rs.

Direct materials 80,000
Direct wages 40,000
Indirect wages 10,000
Direct expenses 12,000
Electric power 1,000
Depreciation of office building 1,000
Depreciation of plant and machinery 2,000
Director’s fees 2,000
Oil and waste 200
Lubricants 300
Consumable stores 1,000
Bad debts 2,000
Postage and telegraph 500
Lighting — Factory 1,000

— Office 400
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Particulars Amount
Rs.
Carriage outwards 300
Office printing and stationery 500
Storekeeper’s wages 1,200
General selling expenses 2,000
Travelling expenses 1,000
Telephone charges 800
Rent — Factory 2,000
— Office 1,000
Manager’ssalary 3,000
General factory expenses 500
Sales 2,00,000
From the above figures calculate :
a) Prime cost

b) Factory cost

c) Cost of production

d) Cost of sales and

e) Profit. 15

B) In amanufacturing company, amaterial is used asfollows:
Maximum consumption 12,000 units per week

Minimum consumption 4,000 units per week
Normal consumption 8,000 units per week
Re-order quantity 48,000 units

Timerequired for delivery — Minimum : 4 weeks
—Maximum : 6 weeks

Calculate:

a) Re-order level

b) Minimum Leve

c) Maximum Leve 5
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5. A) Show the store ledger entries as they would appear when using the weighted
average method, of pricing issues, in connection with thefollowing transactions. 10

Date Particulars Units  Price
Rs.
April—1  Balanceinhand 300 2.00
—2  Purchased 200 2.20

-4 Issued 150
— 6  Purchased 200 2.30

—11 Issued 150

— 19 Issued 200
— 22 Purchased 200 2.40

— 27 Issued 150

B) Calculateinventory turnover ratio for materia Pand Q and giveyour comments. 10

Particulars Material — P Material — Q

Rs. Rs.
Opening stock 80,000 1,70,000
Closing stock 40,000 60,000
Purchases 5,00,000 7,50,000

OR

B) Set out a comparative statement showing the wages under
1) Halsey Plan, and i) RowanPlanwhen':

Standard time : 10 hours
Timetaken : 8 hours
Wages rate per hour : Rs. 5 10

B/1/10/1,885
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S.Y.B.Com. Examination, 2010
BUSINESSENTREPRENEURSHIP—I

(Special Paper)
(2004 Pattern)(Old)

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
2) Figuresto the right indicate full marks.

1. Answer in 20 words each ( any ten) : 20
1) State the four functions of entrepreneur.
2) Define'Franchising'.
3) Define'Credtivity'.
4) Givefull form of DIC and MSFC.
5) What is supply chain ?
6) Explaintheterm'Vision'
7) ExplainthetermAgribusiness.
8) Explaintheterm Social Audit.
9) State any two 'entrepreneurial motives.
10) What do you mean by 'Entrepreneurship Development' ?
11) What is Self Help Group ?
12) What is Business Ethics ?
13) Explaintheterm'Services.

2. Answer in 50 words each ( any two) : 10
1) Qualitiesof Women Entrepreneur.
2) Advantages of 'Social Audit'.
3) Need of Entrepreneurship.

4) Characteristics of 'Franchising'.

P.T.O.
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3. Answer in 150 words each ( any two) : 20
1) Compareentrepreneurial career with employment career.
2) Discuss the scope of agri-business.
3) Write a detailed note on '‘Business Process Outsourcing'.

4) Write anote on Business Ethics.

4. Answer in 300 words each ( any two) : 30
1) Discusswith examplesentrepreneurial qualitiesof Shri B.G Shirke.
2) Explainthe sources of Innovation.
3) Discussthe socio-cultural barriers to 'entrepreneurship development'.
4) Write an essay on 'Challenges of Globalisation and Entrepreneurship

Development inindia.
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S.Y. B.Com. Examination, 2010
MARKETING MANAGEMENT —1

(Special Paper)
(2004 Pattern) (Old)
Time: 3Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
i) Figuresto the right indicate full marks.
1. Answer the following questions in 20 words each (any ten) : 20
1) DefineMarketing.
2) What isascientific management ?
3) Define marketing planning.
4) What is meant by management by objective ?
5) What isMarketing Research ?
6) Explain‘Principlesof Balance'.
7) Explaintheterm‘Merit Rating’.
8) What is‘Marketing Manager’ ?
9) Define*Services'.
10) Why isrural marketing important ?
11) What do you mean by ‘Business Ethics' ?
12) What is‘Product Elimination’ ?
13) What is meant by ‘Brand Strategy’ ?

2. Answer the following questionsin 50 words each (any two) : 10
1) Explain the scope of marketing control.
2) Statethefeatures of ‘Marketing Information System’.
3) What do you understand by ‘Brand Strategy’ ?

4) Explainthe present rural marketing system.
P.T.O.
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3. Answer the following questions in 150 words each (any two) : 20
1) Write anote on ‘ Techniques of marketing control’.
2) Explain the scope of marketing research.
3) Explaintheadvantagesand limitationsof planning.
4) Explain the causes of failure of a new product.

4. Answer the following questions in 300 words each (any two) : 30
1) Explaintheimportance, advantagesand limitations of marketing.
2) Explainsimplification, diversification and elimination of product.
3) Explainthequalities, dutiesand powers of marketing manager.

4) Explain the importance of rural marketing and discuss the main features of
rural marketing.
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S.Y. B.Com. Examination, 2010
BUSINESS LAWS AND PRACTICES-I
(Special Paper)

(2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
i) Figures to the right indicate full marks.

1. Answer the following in 20 words each (any ten) : 20
1) State the meaning of Unfair Trade Practices.
2) State the two objectives of Trade Mark Law.
3) DefineMarinelnsurance.
4) State the Jurisdiction of State Forum.
5) Define DoubleInsurance.
6) Define Copyright.
7) Define *goods under The Competition Act, 2002.
8) Define‘Author’ under Copyright Law.
9) What do you understand by Recognized Stock Exchange ?
10) State the meaning of Foreign Security.
11) What isthe meaning of Foreign Exchange ?
12) Define*Arbitration’.

13) What isrelevant market ?

P.T.O.
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2. Answer the following questions in 50 words each (any two) : 10
1) Writeanote on Dematerialization of Shares.
2) Who can file acomplaint under Consumer Protection Act ?
3) State the features of FEMA.
4) What are the disadvantages of Arbitration ?

3. Answer the following questions in 150 words each (any two) : 20
1) What arethe different types of Marine Insurance Policies ?

2) What are the various rights of consumers under ‘ Consumer Protection Act,
1986’ ?

3) What arethe objectives of Arbitration and Conciliation Act, 1996 ?
4) Write a note on * Authorised Person’.

4. Answer the following questions in 300 words each (any two) : 30
1) Explaininbrief thefundamental elementsof Insurance.

2) Enumerate the various redressal agencies established under the Consumer
Protection Act, 1986.

3) Describe the procedure for purchase and sale of demateralised Shares.
4) Explain the powersand duties of Arbitrator.
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S.Y. B.Com. Examination, 2010
AGRICULTURAL AND INDUSTRIAL ECONOMICS-I
(Special Paper)

(2004 Pattern)(Old)

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
2) Figuresto the right indicate full marks.

1. Answer the following questionsin 20 words each ( any ten) : (20)

1) What isAgricultural Economics?
2) What isuncertainty inAgriculture?
3) What is scale of operation ?
4) Statethetwo measuresto control risk and uncertainty in agricultural product.
5) State the two factors affecting demand for Agricultural Products.
6) What isRisk inAgriculture?
7) Definelndustrial Economics.
8) What isIndustrial Profitability ?
9) What isPlant ?

10) What isIndustrial Monopoly ?

11) What is Optimum Firm ?

12) What isIndustrial Combination ?

13) State two typesof Industrial Combination.

2. Answer the following questions in 50 words each ( any two) : (10)
1) State the factors affecting supply of Agricultural Product.
2) State the causes of Fluctuationsin prices of Agricultural Product.
3) Statethereasonsfor survival of Small Firm.

4) Statethefactorsaffecting Industrial location.

P.T.O.
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3. Answer the following questions in 150 words each ( any two) : (20)
1) Explainthe meritsand demeritsof large size of farm.
2) Explainthenature of risk and uncertainty inAgriculture.
3) Explain thefactors affecting optimum size of Firm.
4) Explainthe effects of Industrial Monopoly.

4. Answer the following questions in 300 words each ( any two) : (30)
1) Explaintheroleof Agriculturein Economic Development.
2) Suggest the measuresto control risk and uncertainty in agriculture.
3) Explainthe Sargent' Florence theory of Industrial location.
4) What Industrial Efficiency ? Explain the factors affecting the Industrial
Efficiency.
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S.Y. B.Com. Examination, 2010
DEFENCE BUDGETING, FINANCE AND MANAGEMENT |
Defence M anagement
(Special Paper) (2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
i) Figuresto the right indicate full marks.

1. Answer in 20 words each (any ten) : (2x10=20)
1) Define defence management.
2) What do you mean by defence perspective ?
3) State the meaning of strategic control.
4) Writethe meaning of National Security.
5) What do you mean by resources for defence ?
6) DefineTeam building.
7) What do you mean by motivation ?
8) State the meaning of forecasting.
9) Writethe meaning of material lifecycle.
10) What do you mean by ‘mobilization of logistics ?
11) Define personnel management.
12) State any two limitationsto defence management.

13) What do you mean by economic forecasting ?

2. Answer in 50 words each (any two) : (2x5=10)
1) Writein short objective of team building.
2) Highlight the principles of defence management.
3) Write short noteson ‘ material lifecycle'.

4) Write in short Management-of -Resources for defence. o1 o
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3. Answer in 150 words each (any two) : (2x10=20)
1) Explainindetail the career management in theArmed Forces.
2) Describe process of operational logistics in the Armed Forces.
3) Explain management of weaponsin the Armed Forces.
4) What do you know about the management of National security in India ?
Explan.
4. Answer in 300 words each (any two) : (2x15=30)
1) Examinerole of private sector in defence production in India.
2) Writeanote onthe application of principlesof management to defence services.
3) Discussrealtionship between leadership and National Security Management.
4) Write a note on the problems of technological forecasting.
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S.Y. B.Com. Examination, 2010
INSURANCE, TRANSPORT AND TOURISM —1
(2004 Pattern) (Old) (Special Paper)

Time: 3Hours Max. Marks: 80

N.B.: 1) All questions are compulsory.
i) Figures to the right indicate full marks.
1. Answer the following questions in 20 words each (any ten) : 20
1) What is Insurance Plan ?
i) Write any three objectives of General Insurance.
i) What do you mean by Nomination ?
iv) DefineLifelnsurance Holder.
v) What is Public Sector ?
vi) What do you mean by Tourist ?
vii) Define ‘Passenger’ .
viil) What is Rural-Transport ?
iX) Write any three advantages of Life Insurance.
X) What is Religious Tourism ?
xi) What is contract of Insurance ?
xii) DefineTourist-Guide.

xiii) Write any three problems of Road-Transport in India.

2. Answer the following questions in 50 words each (any two) : 10
I) Explainthe Investment Policy of Life Insurance Corporation of India.
i) Explainthe importance of General Insurance.
i) Write a note on ‘ Tour Operator’.
Iv) Explainthe organisation of Rail Transport in India.

P.T.O.
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3. Answer the following questions in 150 words each (any two) : 20
1) Explainthe Amendments of General Insurance BusinessAct, 1972.
i) Describetherole of Field-Officer of Life Insurance Corporation (LIC).

i) Describe the working of M.S.R.T. Corporation (Maharashtra State Road
Transport).

Iv) Explainindetail the different types of Tourism.

4. Answer the following questions in 300 words each (any two) : 30
1) Describe the various characteristics of General Insurance.
i) Distinguish between Life Insurance and General Insurance.
iif) Describe the economic and social impact of Tourism.
Iv) Enumeratein detail the problems of Rail Transport in India.
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SY.B. Com. Examination, 2010
ADVERTISING, SALESPROMOTIONAND SALESMANAGEMENT —111
(Vocational Paper) (Advertising—11)
(2004 Pattern) (Old)

Time: 3 Hours Max. Marks: 60

Instructions: 1) All gquestions are compulsory.
2) All questions carry equal marks.

1. Discuss the importance of Exhibitions and Tradefairs.
OR

DefineAdvertising. Explain the benefits of advertising to Manufacturers, Retailers,
Customers, Society and the Salesman.

2. Statewith reasonswhich mediawill you select for advertising thefollowing products/

Services.
a) Hospitals. b) Detergent. c) Chair.
OR
Explain the concept of Advertising Agency. Describe the functions performed by
advertising agencies.

3. What do you mean by advertising effectiveness ? Explain post-testing methods of
evaluating advertising effectiveness.

OR
Narrate the pre-testing methods of evaluating advertising effectiveness.

4. Write short notes (any three) :
1) Problemsinreaching Rural Audience.

2) MediaPlanning.

3) InternetAdvertising.

4) RegulationsforAdvertisinginIndia
5) MediaScheduling.

B/1/10/185
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S.Y. B.Com. Examination, 2010
TAX PROCEDURE & PRACTICES-III
(Vocational Paper) Income Tax
(Old) (2004 Pattern)

Time: 2 Hours Max. Marks: 60

Instructions : 1) All questions are compulsory.
2) Figuresto the right indicates full marks.

1. Answer in 20 words (any seven) : 14

1) Who is called ‘ Assessee’ under |I.T. Act ?
2) What is meant by ‘Revised Return’ ?
3) What is meant by ‘ Deemed Incomes' ?
4) Who iscalled ‘Resident of India ?
5) Discuss deduction’s U/S 16.
6) What isexemption for ‘Hostel Allowance' ?
7) What are the types of depreciations ?
8) Enumeratetherate of TDSfor paymentsto contractors and sub-contractors.
9) What is deduction available U/S80D ?

10) What is meant by ‘Advance Tax’ ?

2. Answer in 50 words (any two) : 8
1) Enumerate exempted incomes.
2) What is meant by ‘PAN’ ?
3) What is meant by ‘ Self-Assessment’ ?
4) What are the deductions available U/S 24 ?

3. Answer in 150 words (any three) : 18
1) Explain provisions of clubbing of incomes under |.T. Act.

2) Enumerateratesof taxesfor various personsunder IncomeTaxAct applicable
toA.Y. 2010-2011.

3) Discussperquisitefor Rent-freefurnished and unfurnished accommodation.
P.T.O.
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4) Enumerate and discuss incomes which are included under head ‘Income
from other sources'.

5) What is meant by Capital Gains ? What are the exemptions available from
Capital Gains?

4. Answer in 500 words : 20
1) What are the provisions and procedures for various assessments under 1.T.
Act?
OR
2) Following are the particulars of incomes of Mr. D. for the year ended
31/03/2010.

1) Salary Rs. 20,000/- p.m. Received Travelling alowance Rs. 2,000/- p.m.
Actual expenses Rs. 1,500/- p.m.

2) Hisemployerscontributionto PF. @ 10% of salary. He aso contributed
same amount.

3) Helet out a house property @ Rs. 10,000/- p.m. paid Municipal tax of
10% of Municipal value Rs. 1,00,000/-.

4) He received Rs. 2,500 as interest on investment and dividend Rs. 700
from domestic company.

5) He paid tuition fees of son Rs. 10,000/-. Compute his taxable income
and tax payable.

B/1/10/235
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S.Y. B.Com. Examination, 2010
ADVERTISING, SALESPROMOTION AND SALESMANAGEMENT -1V
(Vocational Paper)
Personal Selling and Salesmanship
(2004 Pattern) (Old)

Time: 3Hours Max. Marks: 60

N.B.: 1) All questions are compulsory.
2) All questions carry equal marks.

1. DescribeAIDA model of selling. Highlight the significance of AIDA model.
OR

Define personal selling. Narrate the situations where persona selling is more
effectivethan advertising.

2. Describe the process of selling in detail.
OR
Write a detailed note on buying motives.

3. Narrate different types of sales personsin detail.
OR
How physical distribution of productsis essential ? Narrate the role of different

channelsin distribution network system.
4. Write short notes (any three) :
1) Character qualitiesof salesmen.
2) Sellingascareer.
3) Methods of solving objection.
4) Types of customers.
5) Reports and documents made by salesmen.

B/1/10/175
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S.Y. B.Com. Examination, 2010
(Old) (2004 Pattern)
TAX PROCEDURE AND PRACTICES-1V
(Vocational Paper)
Wealth Tax, P.T. and Service Tax

Time: 2 Hours Max. Marks: 60

Instructions: 1) All questions are compulsory.
2) Figuresto the right indicate full marks.

1. Answer in 20 words each (any seven) : 14
1) Whoisliableto pay wealth Tax ?
2) Whose wealth isnot taxable under wealth tax ?
3) How the net wealth is computed ?
4) What istherate of Wealth Tax ?
5) Who is chargeble to P.T. ?
6) State the Constitutional validity of P.T. Act, 1975.
7) How the PT. of salaried person is charged under PT. Act and Rule ?
8) What do you mean by taxable service ?
9) Define “Customer” under Service Tax.

10) StatetheConstitutional validity of Service Tax.
2. Answer in 50 words each (any two) : 8
a) Which assets are taxable under Wealth Tax Act, and Rule 1957 ?
b) State the various exempted Assets u/s 5 of Wealth Tax Act, 1957.
c) State the procedure of registration under P.T. Act, and Rule 1975.
d) Onwhat servicetax islevied and how ?

P.T.O.
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3. Answer in 150 words each (any three) : 18

I) Explain the procedure of filing of Return under Wedth Tax Act, and Rule
1957.

i) State “an overview” of Wealth Tax Act, 1957.
i) How the certification is granted under PT. Rule 1975 ?
Iv) Explain the procedure of filing the return under P.T. Act, and Rule 1975.

v) State the procedure of registration under Service Tax Act, 1994.

4. Answer in 500 words (any one) : 20

1) StatetheadministrativeauthoritiesunderWeathTaxAct, 1957 and their powers
and duties.

2) Explainthetotal scheme of Service Tax Act and Service Tax Rule.

B/1/10/235
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